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1. DNA carries negative chargg in 'ng)nnalﬁ}}ysiolo gical condition

because it contains: (1) ph‘USp gfour; (2) nitrogen base; 3 ribpée; ‘

4) All of the above.

2. _Whlch descnptmn is mcorrect about the function of SDS (sodlum
dodecyl sulfate) when performmg SDS-PAGE? (1) It denatures’
‘proteins; (2) It may break d13ulﬁde bond, so that protem confonnatlon

cannot interfere their mlgratmn (3) It makes protein separated

‘.accordmg to their different mo’l 'ulfa:t"welght; (4) The bmdmg of SDS

et

. 3 g ol . ‘ . .
to proteing makes them carry negatife charge, leading to the migration

 ofthese proteins in elmtri@fi”l"dwj ' ‘ ’
3. Wluch biological substance in the followmgs is not a polynier? (1)
) Glycogen (2) Cholesterol; (3) Nuclelc acids; (4) Collagen fiber.
'4. Which combination is different from the other three? 1 Kinase vs-
phosphgtase; 2) Synthetaié:y“:éilla_g_e.;‘ 3) Oxidase vs reductase; (4) .

. . ' . _m_”"l_ .
DNase vs Protease. o [I _ : o
5. 18% of glucose is equivaleht t¢ (1) 10 M; (2) 1 M; (3) 0.1 M; (4)' 0.01

VAR |
6. 1 ng is equwalent to (1) 107 gram; (2) 10 gram, (3) 10° gram, (4)
1072 gram. |
7. In terms of the order of the mi F‘PI cular s _’;,ze, which ene is correct‘?‘(l)
_ Asparagm> Glutamme )4 cpse anucleotlde (3)Anucleot1de>
an amino acid; (4) Anucleqmd“‘ ya} eotide.
8. Which of the following ammo acﬁmlry positive charge? (1)
Histidihe; (2) Glycm (3) Aspartlc ac:1d (4) Tyrosme




B 3t B by BB 42 101 5 4 8 - B KR 5 4 00 5 A4 B AR

. 3 : \_, - fy 52 EEEE:
BHH : EUEB an deaeses VHCRRES - USRS | T

G - e 2ERDAREESREL  BATFRHA -

3-BEFEEE F BOYHE | MEAMERE -

9. Which of the followinfgs aminovacids is encoded by the UAA? (1)
Methlonme, (2) Serine; (3) 1c ag1d (4) None. |

10.Which statement about metabpl;s e following items is inconr_ect?-
(1) Most of food moIeculej( ed ceq to break its C—H bond to

- release the stored energy, (2 hotosynthesas and ceil resplratlon are
complementary processeS' (3) Living cells do not follow the second

law of thermodynanucs (4) Catabohc and anabohc pathways together
 constitute the cell’s metabohsm

11.Which of the followmg des,cﬂp 101;;’”;"13' ut enzymes is wrong? (1) An E

.enzyme changes the equlh rlwg;é;#lt or reactions; (2) Enzymes .

" convert substrates to prodybts-while aining unchanged themselves;

3) Eozymes catalyze reaction.hy lowering the activation energy; (4)
- Ehzyfnes can be involved in the cat‘abolic and anabolic pathways. |
- 12.What kind of cellular apparatus is not involved in regu.latmg the
division of two newly dupirca’ted daﬁg ter cells? (1) Peroxisome; (2)
- Centrosome (3) Contractmiw;__IE‘f‘j-l ,r/-l) Spindle. .
| 13.1n the end of glycolysis, pzf__f‘uja.t—ej formed to acetyI-CoA Whlch .

'm-nllt

1s then subg ected to further ox1dat10n to obtair more energy from the -
stored chemlcal bond. Where is the rtght place that pyruvate is

‘ catalyzed to become acety]-CoA? (1) cytosol; (2) mttochondna
intermembrane space; (3) m rito hondrrﬁ inner membrane “)
mltochondrla matrrx ey

preastens
fimasrnn

T

T reductase; (3) Cytochrome
oxidase; (4) Cytochrome B‘ccomptemé the final enzyme complex in

14 @) Succmate dehydrogenafe "(#)-

.the electfron transfer chain, consumes neaﬂy all oxygen we breathe

15 Whichi of the following molecules i is not produced directly by TCA
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cycle is mcorrect‘? (l) ATP; (2) NADH (3) GTP; (4) Co2.

- 16.Which descnptmn about the glucose pj)lymers is wrong? (1) Glycogen
is produced and stored in I ll‘ver Starch is the branch form of _
glucose polymer (3) Cel oEﬁe es las a structural role in grass with
alternate arrangement ot‘? d-#verted glucose; (4) Glycogen B
and starch but not cellulose, can be dlgested by animal because the

~ former two glucose polymers contain only upright glucose wh1ch can
be recognized by related enzymes ‘ . -

17 Which of the following mdl"‘ e les""é e as the main structural .

~ component of plasma menfbrane? (i

i ine

) lycoprotem (2) steroid; (3)

: glyc011p1d 4) phosphollp dl - 5
18.Which descr1ptlon in the followings about genes is wrong‘? (1) ’lhe
eu.karyotlc genes are usually d1scont1nuous (2) The DNA reglon

occup1ed by genes is very low i in mammahan genomlc DNA , 3)A

gene is defined as a DNA fmgment pble to produce at least a mRNA

and a protein; (4) The genes.can Ipcated at each one of the two
DNA strands. " .
. ‘ ' e o
19.Which of the following descriptions is wrong"? (1) The nucleotide -
Sequence in mRNA is complementary to the gene strand A set of
- thiee nucleotldes able to produce an amino-acid in mRNA is called a
codon; (3) A set of three nucleotldes able to produce an amino acid in

DNA is called a code 4) ﬁie}hxee»-njcleoude sequences in tRNA

recognizing the three nucleotjdés i A is called an anticodon.
20.Which one is correct about.the_leng:th,.df a gene (A), an mRNA (B) and
~aprotein (C)? (1) A>B>C; (2) A<B<C;(3) A=B>C; (4) A=B=C.

21, Which is wrong about the description of human genetic materials? (1)
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" The genetic matenals are located in chromosomes which are
. composed of proteins an(_l____”z_!&,, (2_)_ [he loose DNA structure in
mterphase cells is called-ehremd During m1t0s1s, the genomic .
DNA is condensed into a rtls e called chromosomes (4)
. There are about 3.2x10% nucleoudes for human génormic DNA.
22. L1p1ds are (1) composed of one glycerol and one fatty acid; (2) not
- good 0 ¢ our health (3) class1ﬁed into simple, complex (such as
.t | cholesterol) and derived llpldS. (such as phosphohpld), (4) degraded
. into acetyl Co-Aby beta-oxrd 1on:-~
23.Carbohydrates (1) posses the'ﬁfomful C(H_20)n (2) can have carbon ,

number from 1 to 6; (3) afrbe m-shsa ght cham or circular form; (4)

all ahove are right, -
L. 24, Whlch amino acid is encoded by start codon? (1) Methionine; (2)
Histidine; (3) Glycine; (4) None. .

25 mRNA is namely produced‘_l'?ljr QW  polymerase I; (2) RNA ‘
polymerase 1I; (3) RNA DO merrlse I1I; (4) All above can produce ‘
mRNA. . T B '

. 26. Wh1ch bond in the following exists in all protems'? (D pepude bond;
2) glycos1d1c bond; (3) phosphochester bond @ d1sulﬁde bond

27. Whlch instrument or technique can be used to determine :protem '
structure? (1) HPLC; (2) I\ic—)jem 1319}; (3) Inmmunohistochemistry; -
: = ' '

(4) X-ray crystallography —

;28 Which of the followmg subsfejll e 'be used to reduce the
-expression level of a gl\‘f’" en gene “‘7“(T)"SJ1RNA (2) tRNA; (3) ant1bod1es
- '(4) Antibiotics.

29.Which process is imi:)ossible in biology? (1) Protein->RNA; 2)
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| RNA-B‘Proein' (3) RNA->DNA; (4) DNASRNA.

~ 30.Which factor in the following statemeﬂt can not detertnine protem

. R
- structure? ( 1) Hydrogen bohcll__g) IGiy osidic bond; (3) Disulfide bond

(4) Hydrophobw force.

| 31.Disulfide bond (1) is fo eéE ween-2 cystein re51dueo, (2) canbe '

broken.down by reducing agent; (3) is critical to the protein L
. conformation; (4) all above are right. _
32.Plasma membrane allows 'the‘ passage of (1) small and chafged

g d oncharged polar molecules; (4)

ot used as an experimental | |

model? (1) Worm (2) yeast (3) bacteria; (4) none of them.

. 34 Which descnpt:ton about a cell cycle of mammahan cells is correct? ( 1)

A cell cycle is progressed from G1, G2 S to M in order (2) DNA is

replicated in S phase; (3),(G2 is thejshortest phase; (4) The blggest cell..

[
size is observed in M phase..i..

».--.u.-u-

' 35.Wh1_ch enzyme is responfrbl D A synthe31s for human cells? (1)

_DNA—dependent DNAW polymerase,_ (2).- DNA—dependent. RNA
.polynﬁeree.e‘ 3) RNA—dependeot DNA polymera'se- (4) All of above
36.The ‘primary structure' of a protem refers to (1) mteraetlons among the
_ side chains or R—groups of the ammo ac1ds (2) the number and

sequence of amino ac1§is, 3)—~eo ing due to hydrogen bondlng
between amino acids; (4)-4;he~dlph a-hglix, or beta-sheets.
37.The two strands of o DA olhule are held together by: (1)

. _Glycosmllc_ bonds; (2) Ester bonds; (3) Peptide bonds; (4) Hydrogen

bonds. -

b
5®r
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38. Fatty acids that are unsaturated ‘have: (1) an amino group; (2) a

| carboxyl group; (3) an excess of protogs (4) a double bond,

39, Which of the following. techimqh ed to detect the expressmn of
mRNA? (1) Northern blcy (]i"‘ ehte:

 (4) Immunofluorescence.

blot; (3) Immunopreclpltatmn

40. Upon chemical analysis a particular protein was found to contain 108

. amino acids. How many codons are present in its correspondmg
mRNA? (1) 108 'v)} 36 (3)216 (4) 324,




